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EEVOBRSMENERERER(4A)
TREQHLGSADPREERESN - BRENORSENEATOREERBCLICEHbELET,
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FLIRAS 50
No. me X 1134 9 L1137 ) LEE BIERR
1|FE HFH |[HBEEI (10BgAT) 28.80 28.80 e
2 [F= HFH |#®EET (10BgLT) 15.73 15.73 miE
3 [fzFD T Xx23%&iK TR |REET (10BqLL ) |3 (10BqLL F) | 3 (10BaAF) | M=
4 |f=lTDC HH |[HBEEI (10BgAT) 14.84 14.84 i
5|t Z BAE |REET (10BqAT) 25.45 25.45 miEst
6 |zt BE |BREEd (10BqLT) 10.67 10.67 g
7 |f=tDZ R |BmEET (10BqLT) 12.04 12.04 miE =
8 |[=1FZ A |[HEEI (10BgLT) 25.00 25.00 i
9 [ A |[HBEEI (10BqLT) 54.73 54.73 miEs
10|f=1+DZ A |[HBEEI (10BgLT) 21.57 21.57 it
1 |t=FnZ A [HBEEI (10BqLT) 14.82 14.82 miE
12|t=1+DZ A |[HBEEI (10BgLT) 49.02 49.02 i
13|=FnZ A 35.34 199.87 235.21 gt
14|t=l1+dC A |[HBEEI (10BgAT) 40.36 40.36 it
15[fzITDT(F) X5k | A [BREET (10BgUT) [HREET (10BgAT) [ #HEEF (10BgLT) | #HIER
16 |[f=IT D (&) BFH |BRHET(10BaAT) 15.31 15.31 miE
17 (=T DT (&) BAE |REET (10BqAT) 27.24 27.24 miE =
18 [f=ITD T (F) =R |BmHEET (10BaLLT) 23.88 23.88 iR
19|zt D (&) fE |RHEEF(10BaAT) 28.23 28.23 gt
20 | AE X21RIK A |&REET (10Ball F) |#&RHEE 3 (10Bal F) | #MRHEE 3 (10Bal ) | MR
21 |HBU A |[BREEI (10BaLLT)|@HEET (10BqLL ) | #HEE 3 (10BaLTF) | M=
22 |hbUy PN 15.18 100.72 115.90 B iE
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No. an B X 0 L134 2 L1137 IO LEE HITE 27
1 |2LHAL X2t&ik MmN [BEET (25BqLL )[BT (25BallTF) [ @9 (25BalL ) | FEREIER
2 |SLH AL iR 154.70 736.10 890.80 JErkiE
3 [SLHAS RE 311.00 1,292.70 1,603.70 JemfiEs
4 [CLHASD iR 231.50 980.60 1,212.10 JErkiE
5 |CLHAS (=P N 78.10 362.90 441.00 JEpE IR
6 |CLHSB foE 191.20 861.00 1,052.20 JErkiE
7 [2ZH X3&iK MmN [BEET (25BqLL )[BT (25BallTF) [ @9 (25BalL ) | FEREIER
8 [t X2k TN [BEET (25BqLL ) |[#H B9 (25BqLLF) [ @9 (25BqLLTF) | FERRIER
9 [Eova X2&IK MmN [HBEET (25BqLL ) |[#BHEE T (25BallTF) [ @9 (25BqLL ) | FEREIER
10 [fzITDT XA4FR1K TN [BEET (25BqLLT) |[#H B9 (25BaLLF) [ @9 (25BqLLF) | FERRIER
1|1tz AR |HREET(25BqlLTF) 4250 4250 JEREIE R
12[=IFDZ RE |H®EET (25BqLTF) 44.30 4430 137355
13|f=FnZ {ZH#A |[#&HEET (25BalATF) 40.40 40.40 IR
14|f=1TDC {Z#HHA [HEET (25BgAT) 31.90 31.90 JEm i
15[zt A |#H®EET (25BaLT) 36.10 36.10 e
16 =17 A |BRHEET(25BqULT) 48.70 48.70 JEREIE
17|zt AR |#®EET(25BqLT) 38.10 38.10 e
18[f=ITDT(FE) X11&K| TR |[BRHEET (25BqAT) [FBRHE T (25BqATF) [ B E S (25BqAF) | FERIR
19 [fz(F DT (&) B |®EET (25BaLT) 55.60 55.60 e
20 |7z D (&) 2R |B®RHEET(25BaAT) 29.20 29.20 JERIER
21 |z D (F) {ZHHA [HmEET (25BqAT) 31.70 31.70 e
22 |TzbDF X6HRIK MmN [BEE3 (25BqlL ) |[#BHEE T (25BalAlTF) [ @9 (25BalL ) | FERRIER
23 |1zbDF A |#H®EET (25BgLT) 65.40 65.40 JERg i
24 |EERT X2URK A |REE T (25BqLL ) |#&RHE B3 (25BqL ) | HE 3 (25BaA ) | IEREER
25 | AE XARRIK TN |[BEET (25BqA ) |#BHE 9 (25BalATF) [ 97 (25Bald ) | FERRIER
26 |HhoU XTHRIK MmN [BEE3 (25BqLL ) |[#BHEE T (25BalATF) [ @9 (25BalL ) | FERRIER
27 |hoW fnE 32.20 159.70 191.90 JERIER
28 |hoW A |[HEEI (25BqLT) 57.10 57.10 JERGIER
29 |H5U(F0) X3MRIK T |BEET (25BqLL ) |9 (25BqLL ) | #H 3 (25BqLL ) | JEREIER
30 |5 (%) BA 70.50 334.40 404.90 JERIE
31 |[HBU(Fh) HE |#®EE9(25BqllT) 99.60 99.60 JERg i
32 |HhU(FR) HE [HRHEE3 (25BqLTF) 39.50 39.50 FERFIER
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